A = 72305 x2pcs  bent tubing Ig
B = 41576 x2pcs  bent tubing sm

74442 ga & hose

ATD-5634

Basic Fuel Injection Tester for GM TBI

72439 manual

26032 hose 3/8"ID x 6"
— female quick coupler
20602 ga only

1/8" thread 74437 oring kit

72308

74434 banjo
[ ?1 &

60239

M16x1.5 72306
60238

74448 hose assy

—— 74455 tubing kit
it

60236 M16x1.5

042-36032 HOSE 3/8 ID x 6 INCHES

042-42437 Instruction Insert page

042-42438 INSTRUCTION MANUAL  ( pictured wrong )

042-51007 8-1/4x14 Vinyl Pouch button closure

042-72308 TBI Hose assembly

042-74437 REPAIR PARTS KIT

042-74442 Gauge-Hose assy 2.5" 60psi gauge & 16" hose & std coupler
042-74455 PARTS KIT 2x straight tubing, 4x hose clamps, 2x flare nuts
042-74494 TUBING KIT

042-74495 ADAPTER KIT includes:

042-60236 M16 x 1.5f x 3/8 tube

042-60238 M14 x 1.5 tube adapter

042-60239 J-body adapter 5/8 UNF std 3/8 inverted flare & M16x1.5
042-72306 M16 x 1.5 male thread x 3/8 tube fitting

042-72309 M14 x 1.5 male x 3/8 tube w/oring

042-74434 M12 x 1.25 banjo bolt assy



	Sheet1

